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QUESTION 1

You issue the following command to create the PRINT_MEDIA table. 

CREATE TABLE print_media 

(product_id NUMBER(3), 

ad_sourcetext CLOB, 

ad_photo BLOB); 

Evaluate the following INSERT statements: 

INSERT INTO print_media VALUES (1, empty_clob(),empty_blob()); 

INSERT INTO print_media VALUES (2,\\'This is a One Line Story\\',null); 

INSERT INTO print_media VALUES (3,\\'This is another One Line Story\\',empty_blob()); 

INSERT INTO print_media VALUES (4,empty_clob(),to_blob(\\'This is new Story\\')); 

Which of the above INSERT statements are valid? 

A. Only the first statement is valid. 

B. All the statements are valid. 

C. Only the first and fourth statements are valid. 

D. Only the first and second statements are valid. 

E. Only the first, second and third statements are valid. 

Correct Answer: E 

 

QUESTION 2

Identify the method that is used by fine-grained access (FGA). 

A. using policy functions to generate predicates dynamically 

B. creating triggers on corresponding tables to generate dynamic predicates 

C. modifying the existing application code to include a predicate for all SQL statements 

D. creating views with necessary predicates, and then creating synonyms with the same name as the tables 

Correct Answer: A 

 

QUESTION 3
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Which two statements are true about the context of an application? (Choose two.) 

A. It is attached to a session. 

B. It is owned by the user SYS. 

C. A user can change the context of his or her application. 

D. The PL/SQL package associated with the context must exist before the context is created. 

E. The predefined attributes in the USERENV application context can be changed as per the requirements. 

Correct Answer: AB 

 

QUESTION 4

Examine the code snippet from the declarative section of a PL/SQL block: 

DECLARE 

TYPE va1 IS VARRAY(10) OF VARCHAR2(20); 

SUBTYPE scale IS NUMBER(1,0); 

TYPE tb1 IS TABLE OF departments.department_name%TYPE INDEX BY 

departments.department_id%TYPE; 

TYPE tb2 IS TABLE OF va1 INDEX BY PLS_INTEGER; 

TYPE tb3 IS TABLE OF scale INDEX BY VARCHAR2(10); 

TYPE tb4 IS TABLE OF DATE INDEX BY DATE; 

TYPE tb5 IS TABLE OF NUMBER INDEX BY CHAR(2); 

.... 

Which of the above are valid definitions for associative arrays? (Choose all that apply.) 

A. tb1 

B. tb2 

C. tb3 

D. tb4 

E. tb5 

Correct Answer: BC 
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QUESTION 5

View the Exhibit and examine the output. 

Which statement is an inference from the output? 

A. The class file is pinned into the Java pool. 

B. The class file has been loaded into the shared library. 

C. Java class methods in the Java class file have been published. 

D. The loadjava command has been executed to load the Java source and class files. 

Correct Answer: D 
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